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— ~ Name the following compounds in English (12%)
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.~ What series of synthetic steps could be used to carry out the transformation shown below? (14%)
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= ~ Suggest a seasonable mechanism for the reactions shown below. (14%)
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() CH4COOH + SOCl, ——= CH,COCl + HCl+ S0,
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[l ~ Give the structures for the major products of each of the following reactions. (50%)

Styrene + (BH3)s, then HyOo/OH™ — W 2-Cyclohexenone + (CH3),CuLi, then H;0" — 0
Ethyl phenyl ketone + Zn(Hg)/HCL, A — A 3-Hexyne + Li/NH; — U
Benzoyl chloride + CH3NH; — T CH,(CO,Et); + NaOEVEtOH, then 1-Bromobutane — T
1-Methylcyclohexene + HBr — X Cyclopentanone + CH;=CHMgCl, then H;0" — £
Benzoic acid + HNO3/ H;804 — T Benzaldehyde + PhyP=C(CH3),—> %
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1. - Propose a structure consistent with the following data : (10%)
CoHy00 ¢ IR 2960, 1590, 1290, 890, 790 em”; 'HNMR (300 M Hz) 6 7.56 (2 H, d, /= 8 Hz), 7.27 (2 H, dd, J= 8, § Hz),
220 H dde = 878 Hz) 600 (1 H o d F=10-Hzy 520 (1 H d; S =10 Fz)y 3.7145 Hs):




